
 

  ا�
وال ا�����

��

د ا��
د  :1ا����x  اد
    .5و  4و  �7��� أ�� ا��ا�� ا������� ���

��
  DH 12,5%� ا�$��#" ه�  kg 2,5 ��  :2ا���

1.  ��  �%1 kg #"؟�ا�$� �% 

 %� ا�$��#"؟ kg 5,6%� ه�  ��  .2

 ؟DH 35%� ه, ا�*�.- ا��, +�*� (�اؤه� �ـ  .3

  

��
، أ>�" ا�;
و�.� ا����..�  " %:5 9, �78 ا�DH 5*6 6,5، و  �� �23 ��� %� ا�1+0 ه� DH 6 �� ��� وا�
 %� ا�/�.� ه�  :3ا���

�*�.- و �:��=�� -�  .ا��?< ا���:

 �.�  �L(  0,5 1 2 3  5ـ (آ�.- ا�/
              )�DHـ ( ا�:�� 

  �L(  0,5 1  2  3  5ـ ( آ�.- ا�0+1 
              )�DHـ ( ا�:�� 

  

��

 �?�$�ر ا�?�D ه� % 20ار>�8  �� ا�?�BC�� D-  :4ا���+
  5BG ار>8�ع ا�:��؟ا�?��  D�  �� �G$�رDH ،9 420، إذا ���0 أن ا�:�� ا�;

��
�=�  f :5ا���%��% -.$I -4دا�

 3

− �Cأ� ،f(3)  42و)-f(  وf(3,9)،  

��

g(x)  -�L،  " أآ�� g، أ��C %��5 ا�
ا�- ا�g(4) = 14 -.$Kدا�- g  J./� -.$I :6ا����x  �%x �.M�% ريO� د
�.  

��

h(x)  -�L، أآ��  = h(5) + h(3)- 24دا�- h  J./� -.$I :7ا����x  �%x �.M�% ريO� د
�.  

��
    �B���f  J./�x ا�
ا�- ا�K$.-  :8ا���
�

�
f(x) =    

1.  �Cأ�f(0)  وf(-5)  وf(0,7). 

2.  -.$Kا�- ا�

اد ا��, �Pره� ����Qا 
 .0,9و  4-و  6: ه, fأو�

3.  -.$Kا�- ا�
�� ,��.Bا���:.5 ا�� S6�أf. 

  

��
   : 9ا���

a 

2 a 

�3.� �1�%.- �
+?- ء��د إ�6�< U�� �9���5*) U��- #�� =� 9?< و ه, �.$�C%� 2 a  و

V��� a ، ,V�� -?+
�P�G 5*) U.� �=�� �78 ا�?$�  أزه�رو �
ا5I ا�/�a ه� �آ� ،

�B��� 5*69, ا� �.B%.  


د  )1�P(a)  -�L
� -?+
 .aا��, >��B �� #�ل ا�C.�ج ا�K�ر�, ا��/.< ���/

2(  �
د ��
ي ا�/
+?- m 48إذا آ�� ����9 9?< ��U �.�ج I�ر�, #��/9?<، 9. 

��� أن آ5 (��- >C% ,$M�% >+�6�  ، -9� �B�ت أز+� إ��#- ��V, اQزه�ر��د  )3�
10cm ر؟�زهQا ,V�� -#��[ ,8*< ,د ا��6\ت ا��
+�*� ا��B�ر (، �9� ه� �

  ).��ض ا��6+< [.� %="

��

د ��.� ا�
وال ا�K$.-  :10ا����f(x)  -�L
�x -.��ت ا��L�/ا� �- %��9, آ5 �: 

1( 3f(5) + 2f(-3) = 12  

2( (f(4))² = 36  

3( f(f(1)) = 49   
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